Algebra 1 - KEY ID: 1
8.2 Practice B [1.E3 Practice A (NAQ.c.3)] Date Period
NAQ.c.3

Evaluate complex numeric expressions with whole number exponents demonstrating the ability
to use the product, power, and quotient properties

Clearly show work. Simplify the exponent expression; then evaluate. Circle your answer.
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Algebra 1 Name ID: 1
8.2 Practice C [Standard NAQ.c] Date Period

- mbr_ST
PRACTICE STANDARD - NAQ.c.1 |NO CALCULATOR ALLOWED - ki W

Evaluate a numeric exponential power. Clearly show work (BY EXPRESSING POWER AS A THi'S
PRODUCT OF FACTORS). Circle FINAL answer.) STEP
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PRACTICE STANDARD - NAQ.c.2 -lﬁil CALCULATOR ALLOWED/
Evaluate numeric expressions with positive integer exponents, using the product property. __ musT

Clearly show work (BY WRITING EXPONENTS WITH ARITHMETIC OPE Sf—~s Hd v
Simplify the exponent expression; then evaluate. (Circle FI answer, Tt 's
)
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PRACTICE STANDARD - NAQ.c.3 - NO CALCULATOR ALLOWED EVEN
Evaluate complex numeric expressions with whole number exponents demonstrating the ability
to use the product, power, and quotient properties. CLEARLY SHOW ALL STEPS TO & Pone .1
SIMPLIFY EXPONENTS. Simplify the exponent expression; then evaluate. (erc ¢ THen
answer.) R ESyT
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SECTION 2 - CA LCULATOR SECTION - Simplify. Clearly show work.s Circle Final

Answer. Your answer should contain only positive exponents; variables in order; and
numbers left as improper fractions. &—_  Founaos THESE RULES
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Algebra 1 Name ID: 1

8.2 Practice D [Standard NAQ.c] Date Period

PRACTICE STANDARD - NAQ.c.1 - NO CALCULATOR ALLOWED
Evaluate a numeric exponential power. Clearly show work (BY EXPRESSING POWER AS A
PRODUCT OF FACTORS). Circle FINAL answer.

D2+ 3.3.2.2.2 =3 2) (-2) - (._0(,2)(,&) - |-¢

PRACTICE STANDARD - NAQ.c.2 - NO CALCULATOR ALLOWED
Evaluate numeric expressions with positive integer exponents, using the product property.
Clearly show work (BY WRITING EXPONENTS WITH ARITHMETIC OPERATIONS).
Simplify the exponent expression; then evaluate. Circle FINAL answer.
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PRACTICE STANDARD - NAQ.c.3 - NO CALCULATOR ALLOWED

Evaluate complex numeric expressions with whole number exponents demonstrating the ability
to use the product, power, and quotient properties. CLEARLY SHOW ALL STEPS TO
SIMPLIFY EXPONENTS. Simplify the exponent expression; then evaluate. Circle FINAL
answer.
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‘ SECTION 2 - CA LCULATOR SECTl(ﬂ— Simplify. Clearly show work. Circle Final
nswer. Your answer should contain only positive exponents; variables in ABC order; and
numbers left as improper fractions.
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Algebra 1 Name ID: 1

8.2 Practice E [Standard NAQ.c] Date Period

PRACTICE STANDARD - NAQ.c.1 - NO CALCULATOR ALLOWED
Evaluate a numeric exponential power. Clearly show work (BY EXPRESSING POWER AS A
PRODUCT OF FACTORS). Circle FINAL answer.
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PRACTICE STANDARD - NAQ.c.2 - NO CALCULATOR ALLOWED
Evaluate numeric expressions with positive integer exponents, using the product property.
Clearly show work (BY WRITING EXPONENTS WITH ARITHMETIC OPERATIONS).
Simplify the exponent expression; then evaluate. Circle FINAL answer.
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PRACTICE STANDARD - NAQ.c.3 - NO CALCULATOR ALLOWED

Evaluate complex numeric expressions with whole number exponents demonstrating the ability
to use the product, power, and quotient properties. CLEARLY SHOW ALL STEPS TO
SIMPLIFY EXPONENTS. Simplify the exponent expression; then evaluate. Circle FINAL
answer.
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SECTION 2 - CA LCULATOR SECTION - Simplify. Clearly show work. Circle Final
Answer. Your answer should contain only positive exponents; variables in ABC order; and
numbers left as improper fractions.
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